Garland Independent School GISD Sourcing Bid Tab

ı	Bid#:	31887	Title: 220-17 Medical Supplies and Equipment
ı	Bid#:		Catalog

	Vendor / Supplier	EPCNT	Discount
	EMERGENCY MEDICAL PRODUCTS INC DBA SCHOOL KIDS HEALTHCARE	yes	20% with exceptions in attached document
503271 503245 505254	HENRY SCHEIN MAXI AIDS INC MOORE MEDICAL CORP NASHVILLE MEDICAL AND EMS PATTERSON MEDICAL SUPPLY INC	See Attachment Yes We will extend the offer YES Ves	18% Please see attachment 10% off catalog price 18% is our Trade Discount NO n/a
505253	POCKET NURSE ENTERPRISES INC	Offer will be extended to	Pocket Nurse Platinum Pricing Program reflects a 14.5% discount from the price seen at www.pocketnurse.com
	SCHOOL HEALTH CORP DBA SCHOOL NURSE SUPPLY INC	YES YES	13% 9% DISCOUNT FREE SHIPPING ON ORDERS OVER \$50.00 PLEASE SE ATTACHMENT FOR A LIST OF EXCLUDED ITEMS FROM THE DISCOUNT
505248	WILLIAM V MACGILL AND CO	Yes	7% discount on supplies,

				I				
Line #	Item Description	Award (Y / N)	Reason	UOM	Supplier	Qty	Price	Extended Price
1	Welch Allyn Sure Temp Plus 690 Thermometer, or approved equal	YES		EA	NASHVILLE MEDICAL AND EMS PRODUCTS INCORPORATED	300	\$195.00	\$58,500.00
·	rnermonicter, or approved equal	TES			TROBUSTO INCOM CHATED	300	ψ133.00	ψ50,500.00
					SCHOOL HEALTH CORP DBA			
		No		EA	ENABLEMART	300	\$224.97	\$67,491.00
		No		EA	WILLIAM V MACGILL AND CO	300	\$225.00	\$67,500.00
							,	, , , , , , , , , , , , , , , , , , , ,
		No		EA	SCHOOL NURSE SUPPLY INC	300	\$234.78	\$70,434.00
		No		EA	HENRY SCHEIN	300	\$238.64	\$71,592.00
								, ,
					PRODUCTS INC DBA SCHOOL			
-		No		EA	KIDS HEALTHCARE	300	\$244.00	\$73,200.00
		No		EA	POCKET NURSE ENTERPRISES INC	300	\$269.99	\$80,997.00
		110					Ψ205.55	ψου,σσ1.υυ
					PATTERSON MEDICAL SUPPLY			
		No		EA	INC DBA MEDCO SUPPLY	300	\$309.68	\$92,904.00
2	Welch Allyn Sure Temp Probe (Oral) or approved equal	Yes		EA	POCKET NURSE ENTERPRISES INC	1	\$1.29	\$1.29
	(oral) or approvou oqual	les					V.1.20	V1120
					SCHOOL HEALTH CORP DBA			
		No		EA	ENABLEMART	1	\$10.92	\$10.92
		No		EA	NASHVILLE MEDICAL AND EMS PRODUCTS INCORPORATED	1	\$69.00	\$69.00
		NO			I RODUCTO INCORT ORATED		\$03.00	ψ03.00
		No		EA	SCHOOL NURSE SUPPLY INC	1	\$76.16	\$76.16
		No		EA	WILLIAM V MACCILL AND CO	1	\$77.89	\$77.89
		No		EA	WILLIAM V MACGILL AND CO	I	\$11.89	\$11.89
					PATTERSON MEDICAL SUPPLY			
		No		EA	INC DBA MEDCO SUPPLY	1	\$87.41	\$87.41

	1					1	
		No	EA	HENRY SCHEIN	1	\$97.32	\$97.32
	Wheelchair w/ adj. leg rests or			EMERGENCY MEDICAL PRODUCTS INC DBA SCHOOL			
3	approved equal	YES	EA	KIDS HEALTHCARE	3	\$112.50	\$337.50
		No	EA	MOORE MEDICAL CORP	3	\$172.05	\$516.15
				POCKET NURSE ENTERPRISES			
		No	EA	INC	3	\$179.99	\$539.97
		No	EA	NASHVILLE MEDICAL AND EMS PRODUCTS INCORPORATED	3	\$195.00	\$585.00
-		No	EA	HENRY SCHEIN	3	\$208.66	\$625.98
		No	EA	PATTERSON MEDICAL SUPPLY INC DBA MEDCO SUPPLY	3	\$229.07	\$687.21
		110				Ç223.07	ψυσι.21
		No	EA	SCHOOL NURSE SUPPLY INC	3	\$295.00	\$885.00
				SCHOOL HEALTH CORP DBA			****
	Good-Lite Illuminated Cabinet	No	EA	ENABLEMART	3	\$309.44	\$928.32
	w/LED, includes Snellen,			COLLOCAL LIE AL TIL CORR DRA			
4	Tumbling E, and HOTV charts or approved equal	YES	EA	SCHOOL HEALTH CORP DBA ENABLEMART	1	\$239.02	\$239.02
		No	EA	SCHOOL NURSE SUPPLY INC	1	\$244.79	\$244.79
		No	EA	WILLIAM V MACGILL AND CO	1	\$270.63	\$270.63
				NASHVILLE MEDICAL AND EMS			
-		No	EA	PRODUCTS INCORPORATED	1	\$297.00	\$297.00
		No	EA	HENRY SCHEIN	1	\$1,595.81	\$1,595.81
						\$.,000.01	Ç.,000.01
	Good-Lite Acuity Chart (10 ft), Symbols, HOTV, Snellen, and			EMERGENCY MEDICAL PRODUCTS INC DBA SCHOOL			
5	Tumbling "E" or approved equal	Yes	EA	KIDS HEALTHCARE	1	\$4.10	\$4.10
		N	EA	SCHOOL NURSE SUPPLY INC	1	\$16.37	\$16.37
		No	LA	SCHOOL NORGE SUFFEI INC	<u>'</u>	φ10.37	φ10.37
				SCHOOL HEALTH CORP DBA			
		No	EA	ENABLEMART	1	\$21.32	\$21.32
	Welch Allyn Otoscope 3.5V or	V	E4	NASHVILLE MEDICAL AND EMS		6140.00	\$440.00
6	approved equal	Yes	EA	PRODUCTS INCORPORATED	1	\$110.00	\$110.00
				DOCKET MINDSE SATERBRISES			
		No	EA	POCKET NURSE ENTERPRISES INC	1	\$235.46	\$235.46
			_				
		No	EA	SCHOOL NURSE SUPPLY INC	1	\$318.50	\$318.50
		No	EA	MOORE MEDICAL CORP	1	\$324.70	\$324.70
	-	-					

	T		1			
			EMERGENCY MEDICAL PRODUCTS INC DBA SCHOOL			
	No	EA	KIDS HEALTHCARE	1	\$325.00	\$325.00
				1		
	No	EA	HENRY SCHEIN	1	\$328.66	\$328.66
					712277	- 40-0100
				1		
					*****	****
	No	EA	WILLIAM V MACGILL AND CO	1	\$331.55	\$331.55
				1		
			SCHOOL HEALTH CORP DBA	1		
	No	EA	ENABLEMART	1	\$339.30	\$339.30
Replacement Battery 3.5V			SCHOOL HEALTH CORP DBA			
7 (rechargeable) or approved equal	Yes	EA	ENABLEMART	1	\$23.93	\$23.93
				1		
	NI-	EA	NASHVILLE MEDICAL AND EMS PRODUCTS INCORPORATED		\$35.90	\$35.90
	No	EA	PRODUCTS INCORPORATED	1	\$35.90	\$35.90
	No	EA	SCHOOL NURSE SUPPLY INC	1	\$36.85	\$36.85
				1		
	No	EA	WILLIAM V MACGILL AND CO	1	\$37.20	\$37.20
				1		
			HENDY COHEIN		607.50	£07.50
	No	EA	HENRY SCHEIN	1	\$37.50	\$37.50
				1		
			POCKET NURSE ENTERPRISES	1		
	No	EA	INC	1	\$38.48	\$38.48
				1		
			EMERGENCY MEDICAL	1		
	No	EA	PRODUCTS INC DBA SCHOOL KIDS HEALTHCARE	1	\$142.50	\$142.50
	NO	1	RIBOTICACTIOARE	· · ·	\$142.00	ψ142.00
				1		
				1		
	No	EA	MOORE MEDICAL CORP	1	\$144.70	\$144.70
Otoscope Replacement Bulb or			POCKET NURSE ENTERPRISES			
8 approved equal	Yes	EA	INC	1	\$8.98	\$8.98
				1		
				1		
	No	EA	NASHVILLE MEDICAL AND EMS PRODUCTS INCORPORATED	1	\$14.69	\$14.69
	110	EA		·	ψ17.03	Ψ17.03
			EMERGENCY MEDICAL			
			PRODUCTS INC DBA SCHOOL			
	No	EA	KIDS HEALTHCARE	1	\$17.50	\$17.50
	No	EA	HENRY SCHEIN	1	\$17.50	\$17.50
					Ι Γ	
	No	EA	SCHOOL NURSE SUPPLY INC	1	\$20.47	\$20.47
	INU	EA	SS.IOOL NOROL OOF FEE INC	'	ψ±0.41	Ψ20.41
<u> </u>	No	EA	WILLIAM V MACGILL AND CO	1	\$23.25	\$23.25
			SCHOOL HEALTH CORP DBA			
	No	EA	ENABLEMART	1	\$25.32	\$25.32
			MOODE MEDICAL CORR	4	670.04	670.01
	No	EA	MOORE MEDICAL CORP	1	\$79.94	\$79.94
			NASHVILLE MEDICAL AND EMS			
Welch Allyn pocket Aneroid						
Welch Allyn pocket Aneroid g (adult) or approved equal	Yes	EA	PRODUCTS INCORPORATED	1	\$12.95	\$12.95

		1					
				POCKET NURSE ENTERPRISES			
		No	EA	INC	1	\$14.50	\$14.50
		No	EA	SCHOOL NURSE SUPPLY INC	1	\$44.59	\$44.59
				EMERGENCY MEDICAL			
				PRODUCTS INC DBA SCHOOL		6450.00	£450.00
		No	EA	KIDS HEALTHCARE	1	\$159.00	\$159.00
		No	EA	MOORE MEDICAL CORP	1	\$175.80	\$175.80
		No	EA	HENRY SCHEIN	1	\$182.23	\$182.23
				SCHOOL HEALTH CORP DBA			
		No	EA	ENABLEMART	1	\$246.65	\$246.65
10	Welch Allyn Large Adult-Size Cuff & Bladder or approved equal	Yes	EA	NASHVILLE MEDICAL AND EMS	1	\$14.69	\$14.69
10	Gun & Bladder of approved equal	res	EA	PRODUCTS INCORPORATED		\$14.09	\$14.69
				POCKET NURSE ENTERPRISES			
		No	EA	INC	1	\$29.70	\$29.70
				SCHOOL HEALTH CORP DBA			
		No	EA	ENABLEMART	1	\$31.80	\$31.80
		No	EA	SCHOOL NURSE SUPPLY INC	1	\$32.30	\$32.30
							·
				MOODE MEDICAL CODD		600.00	£22.00
		No	EA	MOORE MEDICAL CORP	1	\$33.00	\$33.00
		No	EA	HENRY SCHEIN	1	\$34.21	\$34.21
				EMERGENCY MEDICAL			
				PRODUCTS INC DBA SCHOOL			
		No	EA	KIDS HEALTHCARE	1	\$37.00	\$37.00
	Welch Allyn Child-Size Cuff &			NASHVILLE MEDICAL AND EMS			
11	Bladder or approved equal	Yes	EA	PRODUCTS INCORPORATED	1	\$11.69	\$11.69
						[T	
		No	EA	MOORE MEDICAL CORP	1	\$18.93	\$18.93
							,
		No	EA	POCKET NURSE ENTERPRISES INC	1	\$25.88	\$25.88
		INU				φ£3.00	ψ∠⊍.00
		No	EA	SCHOOL NURSE SUPPLY INC	1	\$26.61	\$26.61
				SCHOOL HEALTH CORP DBA			
ļ		No	EA	ENABLEMART	1	\$29.23	\$29.23
		No	 EA	HENRY SCHEIN	1	\$49.80	\$49.80
				EMERGENCY MEDICAL			
		No	EA	PRODUCTS INC DBA SCHOOL KIDS HEALTHCARE	1	\$53.75	\$53.75
		140		THE THORNE		ψ55.15	ψυυ
	StethoscopeLittmann Classic II			NASHVILLE MEDICAL AND EMS			
12	or approved equal	Yes	EA	PRODUCTS INCORPORATED	2	\$29.95	\$59.90

	Т	1	1		1		
				SCHOOL HEALTH CORP DBA			
	No		EA	ENABLEMART	2	\$59.94	\$119.88
	No		EA	MOORE MEDICAL CORP	2	\$70.00	\$140.00
				EMERGENCY MEDICAL PRODUCTS INC DBA SCHOOL			
	No		EA	KIDS HEALTHCARE	2	\$71.85	\$143.70
	No		EA	HENRY SCHEIN	2	\$72.56	\$145.12
	No		EA	SCHOOL NURSE SUPPLY INC	2	\$79.17	\$158.34
					_	4.00	7.00.01
	No		EA	WILLIAM V MACGILL AND CO	2	\$81.70	\$163.40
	NO			WILLIAM V MACGILL AND CO		φ01.70	ψ103. 4 0
	1						
	1 .			PATTERSON MEDICAL SUPPLY	_		A
 	No		EA	INC DBA MEDCO SUPPLY	2	\$102.12	\$204.24
				POCKET NURSE ENTERPRISES			
	No		EA	INC	2	\$103.42	\$206.84
Examining Lamp w/ floor base (3-							
13 wire plug) or approved equal	Yes		EA	HENRY SCHEIN	1	\$61.84	\$61.84
	No		EA	SCHOOL NURSE SUPPLY INC	1	\$74.16	\$74.16
							·
	No		EA	POCKET NURSE ENTERPRISES INC	1	\$80.91	\$80.91
	140		LA			\$00.51	\$00.51
			EA	MOORE MEDICAL CORP	1	\$138.76	\$138.76
	No		EA	MOORE MEDICAL CORP	'	\$130.70	\$130.70
				NASHVILLE MEDICAL AND EMS			
	No		EA	PRODUCTS INCORPORATED	1	\$169.00	\$169.00
				EMERGENCY MEDICAL			
				PRODUCTS INC DBA SCHOOL			
	No		EA	KIDS HEALTHCARE	1	\$220.00	\$220.00
	1						
	No		EA	MAXI AIDS INC	1	\$323.96	\$323.96
	1						
				SCHOOL HEALTH CORP DBA			
	No		EA	ENABLEMART	1	\$374.10	\$374.10
	_		1			1 1	
Fixed Cabinet (36H x 36W x 18D)	1			SCHOOL HEALTH CORP DBA			
14 or approved equal	NB		EA	ENABLEMART	1	NB	NB
	Yes		EA	SCHOOL NURSE SUPPLY INC	1	\$599.00	\$599.00
				STATE OF THE INC		40000.00	ψ533.00
	1						
				NASHVILLE MEDICAL AND EMS	_	64 000 00	64 000 5-
	No	<u> </u>	EA	PRODUCTS INCORPORATED	1	\$1,900.00	\$1,900.00
Health-o-meter Professional				EMERGENCY MEDICAL			
Scale with Height rod, or				PRODUCTS INC DBA SCHOOL			
15 approved equal	Yes		EA	KIDS HEALTHCARE	1	\$200.00	\$200.00
	1						
	No		EA	MOORE MEDICAL CORP	1	\$201.22	\$201.22

	T		1		1			
		No		EA	HENRY SCHEIN	1	\$204.88	\$204.88
					SCHOOL HEALTH CORP DBA			
		No		EA	ENABLEMART	1	\$206.71	\$206.71
							4047.40	****
		No		EA	SCHOOL NURSE SUPPLY INC	1	\$217.49	\$217.49
		No		EA	WILLIAM V MACGILL AND CO	1	\$226.10	\$226.10
		NO		LA	WILLIAM V MACGILL AND CO		\$220.10	\$220.10
		No		EA	NASHVILLE MEDICAL AND EMS PRODUCTS INCORPORATED	1	\$349.00	\$349.00
					DOOKET NUDGE ENTERDRIGES			
		No		EA	POCKET NURSE ENTERPRISES INC	1	\$425.31	\$425.31
					PATTERSON MEDICAL SUPPLY			
		No		EA	INC DBA MEDCO SUPPLY	1	\$437.78	\$437.78
	Pulse Oxymeter or approved							
16	equal	Yes		BD	WILLIAM V MACGILL AND CO	1	\$20.45	\$20.45
					EMEDOENCY MEDICAL			
					PRODUCTS INC DBA SCHOOL			
		No		BD	KIDS HEALTHCARE	1	\$29.50	\$29.50
		No		BD	MOORE MEDICAL CORP	1	\$31.08	\$31.08
		No		BD	HENRY SCHEIN	1	\$34.68	\$34.68
					PATTERSON MEDICAL SUPPLY		244.00	244.00
		No		BD	INC DBA MEDCO SUPPLY	1	\$41.92	\$41.92
		No		BD	POCKET NURSE ENTERPRISES INC	1	\$46.61	\$46.61
		NO		טט	INC		\$40.01	ψ40.01
		No		BD	SCHOOL HEALTH CORP DBA ENABLEMART	1	\$59.20	\$59.20
		-						, ,,,,,,,,
		No		BD	SCHOOL NURSE SUPPLY INC	1	\$61.50	\$61.50
							Ī	
					NASHVILLE MEDICAL AND EMS			
		No		BD	PRODUCTS INCORPORATED	1	\$289.00	\$289.00
	Google Eye Shield Encore Clear,				SCHOOL HEALTH CORP DBA			
17	or approved equal	NB		EA	ENABLEMART	30	NB	NB
		Yes		EA	HENRY SCHEIN	30	\$0.49	\$14.70
		NI-		E.	NASHVILLE MEDICAL AND EMS	20	64.40	\$2F 70
-		No		EA	PRODUCTS INCORPORATED	30	\$1.19	\$35.70
		No		EA	POCKET NURSE ENTERPRISES INC	30	\$2.09	\$62.70
		No		EA	110	30	₽ ∠.09	φυ∠./ U
					EMERGENCY MEDICAL			
		No		EA	PRODUCTS INC DBA SCHOOL KIDS HEALTHCARE	30	\$5.14	\$154.20
	t				1 J		40.14	¥107.20

	Infection Control Bundle includes: One isolation gown,						
	One bouffant cap 21", One face mask with ties, One Pair of vinyl						
	powder gloves, One pair of shoe covers, blue frame safety						
	glasses, one package of (10) nitirle exam gloves, or approved						
18	equal	Yes	BN	MOORE MEDICAL CORP	32	\$3.78	\$120.96
		No	BN	NASHVILLE MEDICAL AND EMS PRODUCTS INCORPORATED	32	\$6.99	\$223.68
		NO	- DIN	POCKET NURSE ENTERPRISES	02	\$0.55	Ψ220.00
		No	BN	INC	32	\$9.48	\$303.36
		No	BN	SCHOOL HEALTH CORP DBA ENABLEMART	32	\$36.80	\$1,177.60
	Demo Dose® 5% Dextros and 0.9% Sodium Chloride IV Fluid			POCKET NURSE ENTERPRISES			
19	50mL, or approved equal	Yes	EA	INC	100	\$1.89	\$189.00
				NASHVILLE MEDICAL AND EMS			
-		No	EA	PRODUCTS INCORPORATED	100	\$2.59	\$259.00
		No	EA	SCHOOL HEALTH CORP DBA ENABLEMART	100	\$7.33	\$733.00
							7
20	Demo Dose® Powder 200mg/mL 10mL, or approved equal	NB	EA	SCHOOL HEALTH CORP DBA ENABLEMART	100	NB	NB
20	Tonic, or approved equal	ND	LA	LIVADLEMANT	100	ND	NB
				POCKET NURSE ENTERPRISES			
		Yes	EA	INC	100	\$1.31	\$131.00
				NASHVILLE MEDICAL AND EMS			
		No	EA	PRODUCTS INCORPORATED	100	\$1.89	\$189.00
	Demo Dose® Steril Water for						
21	Injections 10mL or approved equal	NB	EA	SCHOOL HEALTH CORP DBA ENABLEMART	400	NB	NB
		Yes	EA	POCKET NURSE ENTERPRISES INC	400	\$1.29	\$516.00
		res			400	\$1.23	\$310.00
				NASHVILLE MEDICAL AND EMS			
		No	EA	PRODUCTS INCORPORATED	400	\$1.89	\$756.00
		No	EA	HENRY SCHEIN	400	\$25.12	\$10,048.00
		No	EA	MOORE MEDICAL CORP	400	\$49.43	\$19,772.00
	Personal Protection Kit - Latex						
	Free includes: One isolation gown, One bouffant cap 21", One						
	facemask with ties, One pair vinyl powder gloves, One pair			POCKET NURSE ENTERPRISES			
22	shoe covers or approved equal	Yes	KT	INC	100	\$2.66	\$266.00
				NASHVILLE MEDICAL AND EMS			
		No	КТ	PRODUCTS INCORPORATED	100	\$2.89	\$289.00
				EMERGENCY MEDICAL PRODUCTS INC DBA SCHOOL			
		No	КТ	KIDS HEALTHCARE	100	\$4.25	\$425.00
\vdash		No	KT	MOORE MEDICAL CORP	100	\$6.00	\$600.00
				SCHOOL HEALTH CORP DBA			
		No	кт	ENABLEMART	100	\$7.16	\$716.00
		No	кт	WILLIAM V MACGILL AND CO	100	\$12.08	\$1,208.00

	T T		T			1 1	1
	Dy Viel with Multi Eurotien						
	Rx Vial with Multi-Function Reversible Cap-13-Dram or			SCHOOL HEALTH CORP DBA			
23	approved equal	NB	EA	ENABLEMART	100	NB	NB
		Yes	EA	POCKET NURSE ENTERPRISES INC	100	\$0.18	\$18.00
		163		1110	100	\$0.10	ψ10.00
				NASHVILLE MEDICAL AND EMS			
		No	EA	PRODUCTS INCORPORATED	100	\$0.39	\$39.00
		No	EA	HENRY SCHEIN	100	\$40.27	\$4,027.00
	E-Z Scrub Preoperative Surgical						
0.4	Scrub Brush 107 with 4% CHG or			SCHOOL HEALTH CORP DBA	400	ND	ND
24	approved equal.	NB	EA	ENABLEMART	100	NB	NB
				POCKET NURSE ENTERPRISES			
		Yes	EA	INC	100	\$1.57	\$157.00
		No	EA	NASHVILLE MEDICAL AND EMS PRODUCTS INCORPORATED	100	\$1.89	\$189.00
		NO		TRODUCTO INCORT CRATED	100	\$1.03	ψ109.00
		No	EA	HENRY SCHEIN	100	\$38.12	\$3,812.00
		No	EA	MOORE MEDICAL CORP	100	\$38.12	\$3,812.00
	Diagnostic Bundle includes:						
	Adult aneroid						
	sphygmomanometer, Geratherm® oral thermometer						
	(non-mercury), Thermometer						
	sheaths (non-mercury),						
	Disposable penlight or approved			SCHOOL HEALTH CORP DBA			
25	equal	NB	BN	ENABLEMART	44	NB	NB
		Yes	ви	NASHVILLE MEDICAL AND EMS PRODUCTS INCORPORATED	44	\$21.69	\$954.36
		res	BN	PRODUCTS INCORPORATED	44	\$21.09	ф354.30
				POCKET NURSE ENTERPRISES			
		No	BN	INC	44	\$22.73	\$1,000.12
	Demo Dose® 5% Dextros and 0.9% Sodium Chloride IV Fluid			SCHOOL HEALTH CORP DBA			
26	1000 mL or approved equal	NB	EA	ENABLEMART	100	NB	NB
		No					
				POCKET NURSE ENTERPRISES			
		Yes	EA	INC	100	\$2.25	\$225.00
				NASHVILLE MEDICAL AND EMS			
		No	EA	PRODUCTS INCORPORATED	100	\$3.09	\$309.00
				-			
l	Demo Dose Measles, Mumps and						
	Rubella (MMR) A and B 0.5 mL or			SCHOOL HEALTH CORP DBA			
27	approved equal	NB	EA	ENABLEMART	100	NB	NB
				POCKET NURSE ENTERPRISES			
		Yes	EA	INC	100	\$2.39	\$239.00
						1	
l		No	EA	NASHVILLE MEDICAL AND EMS PRODUCTS INCORPORATED	100	\$3.19	\$319.00
		NO	EA	I NODUCI S INCORPORATED	100	\$3.19	φ318.00
l							
		No	EA	MOORE MEDICAL CORP	100	\$51.29	\$5,129.00
	Demo Dose Penicillin G			SCHOOL HEALTH CORP. DE 4			
28	Potassium 5,000,000 units vial 20mL or approved equal	NB	EA	SCHOOL HEALTH CORP DBA ENABLEMART	100	NB	NB
				•			

			POCKET NURSE ENTERPRISES			
	Yes	EA	INC	100	\$3.56	\$356.00
	No	EA	NASHVILLE MEDICAL AND EMS PRODUCTS INCORPORATED	100	\$23.69	\$2,369.00
	No	EA	HENRY SCHEIN	100	\$362.55	\$36,255.00
Demo Dose Steril Practice Drug 20mL or approved equal	NB	EA	SCHOOL HEALTH CORP DBA ENABLEMART	100	NB	NB
	Yes	EA	POCKET NURSE ENTERPRISES INC	100	\$3.56	\$356.00
	No	EA	NASHVILLE MEDICAL AND EMS PRODUCTS INCORPORATED	100	\$5.89	\$589.00